V// CANARM'

MANAGED
HVAC COMPANIES
- Qty Dimensions
Item Number Description X
Required A B C D
R-6030003 Wheel, GO9BD-46-3/4-RH-LCD 3/4" 10-1/4" 9-9/16"
R-2100391 Shaft, 3/4 X 16-5/16, 2KWY 3/4" 16-5/16" 2 Kwy
R-B-6080002 Bearing Bracket Assembly, G9 B/B (c/w bearing and sleeve) 3/4"
R-B-8100000 Ball Bearing and Rubber Sleeve, 3/4" RCR 3/4"
R-B-8860034 Alum Filter, 25" X 16" X 1" 16" 25" 1" Deep
[
TYPE A TYPEB
B A i ]
| I | I
i It
| ‘I TYPEC
B — B -
i | TYPED
- B -— | = |

Wheel Bearing, Bearing Bracket and Shaft Motor Mount Brackets



V// CANARM'

HVAC

Item Number

R-6030007
R-2100392
R-B-6080003
R-B-8100000
R-B-8860036

Wheel

BEST
MANAGED
COMPANIES

Description

Wheel, G10BD-52-3/4-RH-LCD

Shaft, 3/4 X 17-5/8, 2KWY

Bearing Bracket Assembly, G10 B/B (c/w bearing and sleeve)
Ball Bearing and Rubber Sleeve, 3/4" RCR

Alum Filter, 20" X15" X 1"

Bearing, Bearing Bracket and Shaft

Required

SIS-10 Air Supply Unit - Part # 9572002

Dimensions

A B C D
3/4" 11-9/16" 10-13/16"
3/4" 17-5/8" 2 Kwy
3/4"
3/4"
15" 20" 1" Deep
TYPE A TYPE B
It i
I || I
- - - B -
It
| 1 TYPEG
- B -

Motor Mount Brackets



V// CANARM'

HVAC

Item Number

R-6030017

R-6039008

R-2100255
R-B-6080004
R-B-8100000
R-B-8860034
R-B-8860037

Wheel

BEST
MANAGED
COMPANIES

Description

Wheel, G12BD-58-3/4-RH-RCD-LH-LCD

G12 BD X 3/4", Wheel PKGD

SHAFT, 3/4 X 20-1/2, 2KWY

Bearing Bracket Assembly, G12 B/B,LD (c/w bearing and sleeve)
Ball Bearing and Rubber Sleeve, 3/4" RCR

Alum Filter, 25" X 16" X 1"

Alum Filter, 20" X 25" X 1"

Bearing, Bearing Bracket and Shaft

Qty
Required

PR NN R R R

SIS-12 Air Supply Unit - Part # 9572003

Dimensions

A B C D
3/4" 12-7/8" 12-13/16"
3/4"
3/4"
3/4"
16" 25" 1" Deep
20" 25" 1" Deep
TYPE A TYPEB
It n
| | | |
IL
| 1 TYPEC
- B -

Motor Mount Brackets



V// CANARM'

HVAC

Item Number

R-6030028
R-2100056
R-B-6080008
R-B-8100001
R-B-8860035

Wheel, G15BD-70-1-RH-RCD-LH-LCD

Shaft, 1 X 25, 2KWY

Bearing Bracket Assembly, G15 B/B (c/w bearing and sleeve)
Ball Bearing and Rubber Cushion, 1" RCR/RCSM

Alum Filter, 28.5" X 20" X 1"

Wheel

BEST
MANAGED
COMPANIES

Bearing, Bearing Bracket and Shaft

Required

SIS-15 Air Supply Unit - Part # 9572004

Description

Dimensions

B C D
15-1/2" 15-1/16"
25" 2 Kwy
20" 28.5" 1" Deep
TYPE A TYPE B
n
| | |
8 B — —
I
| TYPEC

Motor Mount Brackets



V// CANARM'

HVAC

R-6030031
R-2100054
R-B-8100001
R-B-8860034
R-B-8860037

Item Number

Wheel

Wheel, G18BD-52-1-RH-RCD-LH-LCD

Shaft, 1 X 30-1/8, 2KWY

Ball Bearing and Rubber Cushion, 1" RCR/RCSM
Alum Filter, 25" X 16" X 1"

Alum Filter, 20" X 25" X 1"

BEST
MANAGED
COMPANIES

Bearing, Bearing Bracket and Shaft

Required

SIS-18 Air Supply Unit - Part # 9572005

Description

Dimensions

A B C D
1" 18-1/2" 18-1/2"
1" 32-1/8" 2 Kwy
1
16" 25" 1" Deep
20" 25" 1" Deep
TYPE & TYPEB
1L i |
| | | |
1L
| 1 TYPEC
— B -
| TYPED
- B -

Motor Mount Brackets



V//CANARM® B tAGED

HVAC COMPANIES
SIS-20 Air Supply Unit - Part # 9572006
- Qty Dimensions
Item Number Description X
Required A B C D
R-6031004 Wheel, 920 X 1-3/16 HUB X 88 BLADE 1-3/16" 20-3/4" 20-3/8"
R-2100118 Shaft, 1-3/16 X 37-1/4, 3KWY 1-3/16" 37-1/4" 3 Kwy
R-B-8100004 Cast Iron Pillow Block Bearing,1-3/16 (NTN) 1-3/16"
R-B-8860037 Alum Filter, 20" X 25" X 1" 20" 1" Deep
[
TYPE A
4 A . TYPEB .
I || |
i I
| 1 TYPEC
B - B -
' | TYPED
- - = B = . B !

Wheel Bearing, Bearing Bracket and Shaft Motor Mount Brackets





